SUBTDAC'IION

(Metl'\od Breoklng down both numbers

L68T - 243
= AOOO + 600 + 80 + 7 - 2000 - 100 - AO 3 -Break down each number.
= (AOOO - 2000) + (600 - 100) + (80 - AO (7 -3) -Then subtract the thousands

Hundr‘eds, tens ond ones.

= 2000 + 500 + LO+ 4 - Add the answers together‘

= 25/4, /
Caleulate the sums bg / \

2 598 - 356

using the method above.

/I642 - 1268 \

\_ /
~

3369 + 1246




m3UBTRACTION mm

/ ComPensqtion method: \

Learners canno t subtract A from 3 or 80 from AO Instead of br‘eal(ing down 74.3 into 700 + AO +3 thea will break down 74.3 into 600 +
130 + I3. Then the3 can subtract 4 from 13 and 80 from I30.

Coleulate: 8 743 2 5 68,
8 743 %5684 = (8,000 + 700 + {0 +3) £ 5000 £ 600 £ 80 £ £
=(8 000 + 600 +130 +13) £ 5000 ¢ 600 £ 80% £
(breaking up 743 into 600 + 130 + 13)
=(8 000 % 5 000) + (600 2 600) + (30 2 80) + (3 ¢ )

=3000+0+50+9

N X

3 568 -1 689

Calculate
the sums bH

using the
method

CIIDOVG.

-

T 485 -3 597 5883-399




ADDITION %

Caleulate 2 486 + 48

2 486+ [8=1(2 486 +14) -1+ 48
=2 500 + (48 - 14)
=2 500 + 34
=2 534

Method: Fill up the HUNDREDS

FILL UP THE HUNDREDS.

_J

L 32/ + 98

-

8 916 + 4l

\_ J
N

Caleulate

the sums 53

using the

method

ObOVG.
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